Parallel and Perpendicular Lines
Graph the following lines on the same grid.
1. a) y = 2x + 1
b) y = 2x + 2

2. a) 
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b) 
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c) 
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    c) y = 2x – 3
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Now graph the following lines simultaneously.

3. a) y = –x
c) y = –x – 4


4. a) 
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b) 
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     c) 
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    b) y = –x + 7

What conclusion can you reach from the graphs?



 


Graph the following lines on the same grid.

5. a) 
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b) 
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6. a) 
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b) 
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Now graph the following lines simultaneously on your graphical calculator.

7. a) 
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b) 
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8. a) 
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b) 
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What conclusion can you reach from the graphs?
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